
 Operating Instructions  

1 

 

 

 

SELECTOR 
Type: 270-II/8-VZ 

Selectorsystem  

325554 

278337 

 

 

 

 

 

 

 

 

 

 

 

 

 

Manufacturer: 
 

SCHWANOG 

Siegfried Guentert GmbH 
Niedereschacher Strasse 36 

D-78052 Villingen-Schwenningen 

Tel: +49 7721 / 9489-0 

Fax:  +49 7721 / 9489-99 

URL: www.schwanog.com  

email: info@schwanog.com 



 Operating Instructions  

2 

 

 

Contents                 Page 
 

Inhalt 
1. Intended use ..................................................................................................................................... 3 

2. Improper use .................................................................................................................................... 3 

3. General safety hints......................................................................................................................... 3 

4. Checks before start-up .................................................................................................................... 4 

5. Start-up / Connections / Electrical connections .......................................................................... 5 

5.1. Execution ...................................................................................................................................... 5 

5.1.1. Selector with external control: ............................................................................................ 5 

5.1.2. Selector with timer control: ................................................................................................. 5 

5.1.3. Selector with quantity control: ............................................................................................ 5 

5.1.4. Selector with external control and oil tank/pan (pump control): .................................... 5 

5.1.5. Selector with timer control and oil tank/pan (pump control): ......................................... 6 

5.1.6. Selector with quantity control and oil tank/pan (pump control): .................................... 6 

6. Programming: ................................................................................................................................... 7 

6.1. External control / external control with test cup: ................................................................. 7 

6.2. Timer control: ............................................................................................................................ 7 

6.3. Timer control with test cup: .................................................................................................... 7 

6.4. Quantity control Siemens logo and Siemens logo with test cup: ..................................... 8 

7. Adjusting the selector stand, height adjustable ......................................................................... 10 

8. Removal and installation of the engine ...................................................................................... 11 

9. Removal and installation of the pump ........................................................................................ 12 

10. Removing and installing the float switch .................................................................................... 13 

11. List of spare parts .......................................................................................................................... 14 

 

Annexes 

a. EC Declaration of Conformity 

 



 Operating Instructions  

3 

 

1. Intended use 
 
The selector system is used to collect processed workpieces from processing machines. Cooling 
lubricant also drips into the collection container, depending on the application. Depending on the 
type of application, the cooling lubricant can be returned directly to the machine or collected in a 
tank and then passed on. 
Depending on the design, collection containers of different sizes can be used.  
The machine must not be operated in the Ex area. 
The operating personnel must have appropriate technical understanding and be instructed before 
using the machine. Maintenance work may only be carried out by qualified electricians. 
 
 

2. Improper use 
 
Any use contrary to the intended use is prohibited. These include particularly 
- Use as a seat or climbing aid 
- Use of the machine in the Ex area 
- Use of the machine outside the specified limits 
 
(This listing is not thorough, but provides only examples) 
 
 

3. General safety hints 
 
The Selector may only be operated as intended by qualified and trained personnel. Do not reach 
into the running machine. During maintenance work, observe the 5 rules of electrical engineering. 
 

According to DIN EN ISO 010, there is a danger of automatic starts on machines 

and systems. These starts can occur unexpectedly and without warning as soon as 

a power source is connected or an automatic control is activated.  

Automatic starts can lead to serious injuries, occupational accidents or even fatalities. It is 

therefore extremely important that all employees working with machinery and equipment are 

aware of the dangers of automatic start-ups and take appropriate protective measures. 

All employees should be trained and informed accordingly on how to behave during automatic 

start-ups and how to switch off the equipment safely. 

We ask all employees who work with machines and equipment to take this warning seriously and 

to take the necessary safety measures to protect themselves and others from the dangers of 

automatic start-ups. 

 
 
Attention! Never reach into the running Selector. There is a risk of crushing 
injuries. 
 

 
 



 Operating Instructions  

4 

 

 

4. Checks before start-up 
 
Before initial operation, a visual inspection for damage and completeness must be carried out. 
Electrical safety must also be verified in accordance with German Statutory Accident Insurance 
(DGUV) V3 
 
Before each start-up, a visual inspection for damage and completeness must be carried out.  
 
Regular checks are to be specified by the user in accordance with the statutory provisions. 
 



 Operating Instructions  

5 

 

 

5. Start-up / Connections / Electrical connections 

 
Electrical start-up may only be carried out by trained personnel. 
 

To connect the selector, depending on the version, you must plug the electrical plug into the 
corresponding interface/socket. 
Only connect the plug connection of the selector or the control to the intended voltage and 
frequency (110V/60Hz; 200V/60Hz; 230V/50Hz; 400V/50Hz; 480V/50Hz; 480V/60Hz)! There is a 
risk of death or fire if the voltage or frequency is incorrect! 

5.1.  Execution 

 

5.1.1. Selector with external control:  

Plug the selector into the existing socket on the machine. 
 
The selector is exclusively controlled by the machine. For information about how to 
program this, please refer to the relevant documentation from the machine manufacturer 
or ask the machine manufacturer. A corresponding adaptation may have to be purchased 
from the machine manufacturer. 

 

5.1.2. Selector with timer control: 

Plug the selector into the socket on the timer controller. Plug the timer controller plug into 
the existing socket on the machine. 
 
The selector is controlled via the set time parameters.  
Programming the timer control see chapter Programming – timer control. 

 

5.1.3. Selector with quantity control: 

Insert the plug of the selector and the pulse generator into the corresponding sockets of 
the piece count control. Plug the piece count control plug into the existing socket on the 
machine. 
 
The selector is controlled via the set parameters of the number of items. 
Programming of the quantity control see chapter Programming – quantity control. 
 

5.1.4. Selector with external control and oil tank/pan (pump control): 

If necessary, plug the selector plug into the pump control, then plug the pump control plug 
into the existing socket on the machine. 
 
The selector is now exclusively controlled by the machine. For information on how to 
program this, please refer to the relevant documentation from the machine manufacturer. 
The oil tank/pan pump is controlled by the pump controller.  
 



 Operating Instructions  

6 

 

5.1.5. Selector with timer control and oil tank/pan (pump control): 

Plug the selector into the socket on the timer controller. Plug the timer/pump controller 
into the existing outlet on the machine. 
 
The selector is controlled via the set time parameters.  
Programming the timer control see chapter Programming – timer control. 
The oil tank/pan pump is controlled by the pump controller.  
 

5.1.6. Selector with quantity control and oil tank/pan (pump control): 

Insert the plug of the selector into the corresponding socket of the quantity/pump control 
and also plug the plug of the pulse generator into the corresponding socket of the control. 
Plug the control plug into the existing socket on the machine. 
 
The selector is controlled via the set parameters of the number of items. Programming of 
the quantity control see chapter Programming – quantity control. 
The oil tank/pan pump is controlled by the pump controller.  
 

 

Connect the plug (red arrow) to the corresponding interface/socket.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 Operating Instructions  

7 

 

6. Programming: 
 

6.1. External control / external control with test cup: 

The selector is exclusively controlled by the machine. For information about how to program 
this, please refer to the relevant documentation from the machine manufacturer or ask the 
machine manufacturer. A corresponding adaptation may have to be purchased from the 
machine manufacturer. 
 

6.2. Timer control: 

The selector is controlled by the clock pulse.  
 
Settings / display: 
A:  Yellow LED: Operating voltage 
B:  Red LED: Time is running (C)  
C:  window of selected time (sec/min/h/x10h); Setting on switch H 
F: Selected Function (CE) window; do not change the setting 
G: Selected time scale (sec/min/h/x10h) 
D: See table below (Scale) 
H See table below (sec/min/h/x10h) 
 

 
 

6.3. Timer control with test cup: 

 
The selector is controlled by the clock pulse.  
Setting the time clock see point 6.2.  
The impulse for the test cup must be set with a screwdriver on the multifunction time relay 
with the control box open. Please pull the mains plug! Electric shock hazard!   
 

 
 



 Operating Instructions  

8 

 

 
 

6.4. Quantity control Siemens logo and Siemens logo with test cup: 

 

 
 
Display:  
Cup:  Display of the counted number of pieces in the cup 
Target value: Display of target content per cup (after the number of pieces has been 

reached, the selector cycles to the next cup) 
Total  Total number of pieces counted 
 
Set target value for number of pieces per cup: 
‘ESC’ longer than 3 seconds. Press and hold 
With the arrow key ‘     ’ on the target value field 
Press "ENTER". 
With the arrow key ‘     ’ on the  value to be entered 
With the arrow key ‘     ’ to set the value 
When all digits are set, press ‘ENTER’. 
Leave the menu with ‘ESC’. 
 
Resetting the counted total number of pieces: 
Hold ‘F4’ longer than 3 seconds 
 
Resetting the counted number of pieces in the current cup: 
Hold ‘F4’ longer than 3 seconds 
 
 
 
 
 
 



 Operating Instructions  

9 

 

 
 
Settings on the pulse sensor: 
 

 
 
Rotary control for setting the sensor sensitivity 
Can be adjusted when changing part size 
Caution: Depending on how the sensitivity is set, the distance between the sensor and the 
cups or the dividing ramp or other metal parts must be increased.   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 Operating Instructions  

10 

 

7. Adjusting the selector stand, height adjustable 
 

 
 

 
 
Laser height adjustment 
 

1. Loosen locking screw 
2. Adjust the selector stand upwards by turning it clockwise 
3. Adjust the selector stand downwards by turning it counterclockwise 
4. After adjustment, tighten the locking screw  
 

 



 Operating Instructions  

11 

 

8. Removal and installation of the engine 
 

 

Figure 1             Figure 2 
 
 
Removal: 
 

1. Loosen the cable gland on the underside of the selector 
2. Open the knurled screw in the center of the plate and remove the tension washer and plate 

springs (image 1) 
3. Remove plate (picture 1) 
4. Pull off the gear upwards (picture 1) 
5. Open the screws on the control disc and pull off upwards (Image 2) 
6. Remove 2 screws in the middle of the carrier plate and take out the carrier plate (image 1) 
7. Remove the screws from the motor and take out the motor 

 
Installation: 
 
Assemble in reverse order 
 



 Operating Instructions  

12 

 

9. Removal and installation of the pump 

 

 
 
Removal: 
 

1. Remove nut on flange 
2. Lift the pump out 

 
Installation: 
 
In reverse order 
 
 



 Operating Instructions  

13 

 

10. Removing and installing the float switch 
 

 
 
Removal: 
 

1. Remove protective cap 
2. Loosen the float switch with an open-end wrench and remove upwards 
3. Pull the probe rod out of the tube 

 
Installation: 
 
In reverse order 
 
 



 Operating Instructions  

14 

 

 

11. List of spare parts 
Selector 325554, 278337 

Item Article 

No. 

Drawing Name Name  Qty  

1 282226   Carrier plate 16 pitch for selectors 270  1  

8 325553 325553 Housing for Selector 270-2 composed out of: RAL 309492;  1  

- 274984 279484 Plate for Selector 270-2 composed of: RAL 309493;  1  

11 152715 06-1-021-00-004-0 Selector pulley    1  

12 152713 06-1-021-00-005-0 Gear Z=112 m=0.7  for Selector 200 and 270-II  1  

13 176731 06-1-028-00-006-0 Selector console Standard  1  

14 152714 06-1-021-00-007-0 Selector guide shaft    1  

15 162573   Perbunan sealing profile NBR quality, black  1  

20 152520   Deep groove ball bearing 6000-2RSR    1  

21 152521   Angular contact ball bearing 7200B-TVP    1  

22 152835   knurled hollow screw GN 421-M6-16  1  

23 153960   Hose connector N 3/4-P-13 with seal  1  

24 156781   PVC hose with connection 16 x 4 m  1  

25 160767   Hose clamps D 12-22 mm galvanised  1  

29 152861   straight pin 2 h8 x 6  2  

30 155170   Zinc-plated cylindrical screw M 4 x 8 with hexagon socket  2  

31 151929   Zinc-plated cylindrical screw M 5 x 12  4  

32 150077   Washer D 10.5  1  

33 153756   Locking ring D10.0 x 1.0  1  

34 152832   Seeger-Ring for bore 26 x 1.2  1  

35 152834   Disc spring 20 x 10,2 x 800 mm  5  

36 162959   Foil sign made of PVC foil 25 x 25mm self-adhesive  1  

37 154839   Aluminum plate ‘Selector’ 205 x 33 x 0,5  1  

38 273249   Grommet housing for single bracket, cable 

inlet: 

top/side, height: 60.5mm HC-EVO-B  1  

39 273247   HEAVYCON EVO connector type B6 Pin insert HC-B 06-I-PT-M  1  

40 273250   Cable gland M20 clutch housing M20x1.5  1  

41 190202   Cable gland PVC M16x1.5  1  

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

Note on products marked with *: We would like to comply with our duty to provide information (REACH Ordinance, Art. 33) and inform 

you that this article contains the SVHC substance PB (CAS: 7439-92-1) contains more than 0.1 percent by mass.  



 Operating Instructions  

15 

 

 



 Operating Instructions  

16 

 

 

Carrier Plate 282226 

Item Article 

No. 

Drawing Name Name  Qty  

1 152844 06-1-021-02-001-1 Carrier plate (laser part) Division 6 and 8  1  

2 152710 
Drive 

pinion 

Z=14 

m=0.7 

06-2-002-02-002-0 Drive pinion Z=14 m=0.7 for selector  1  

3 282225 282225 Control disk - 16 pitch (drive motor) for Selector 200 and 270  1  

10 152841  Synchronous gear motor 82334756, 10 u/Min, 230V AC, links  1  

11 181719  Micro switch type V4N4S mounted with lever V4N/S AR1  1  

12 156071  Series Lyster terminal EDP no. 138192 12 x 4 qmm 74/CE  1  

13 151481  Cable ties Thomas+Betts Type 23M  3  

14 151477  Cable ties Thomas+Betts Type 24M  1  

15 156779  Protective conductor sign D 16 mm Type 02/030 F  1  

20 153903  Grub screw M 4x8, 45 H, 90°  2  

21 155162  Zinc-plated cylindrical screw M 3 x 12 with hexagon socket  2  

22 152857  Hexagon nut M 3 DIN EN 24032  2  

24 155160  Zinc-plated cylindrical screw M 3 x 8 with hexagon socket  2  

25 214239  Zinc-plated cylindrical screw M 3 x 5 with hexagon socket  1  

26 181800  Zinc-plated socket head screw with slot M 2.0x10  2  

27 181801  Washer D 2.0  2  

29 165506  Oelflex cable 400P 5 x 1.0 m  2.2 M  

30 150302  Klauke GR 4718 ferrule 1.0 sq mm red  -  

31 150307  KLA ring terminal, red 620/3  1  

40 161169  DTE ferrules DZ5-CE007 0.75 mm, blue 2.  3  

41 150303  DTE ferrule DZ5-CE005 0.5 square mm white  2  

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

 



 Operating Instructions  

17 

 

 



 Operating Instructions  

18 

 

 
12. Circuit diagram 

Selector – 325554, 278337 



 Operating Instructions  

19 

 

 
Timer control cup with test cup + reset -200/270 - 347526 

 



 Operating Instructions  

20 

 

 

 



 Operating Instructions  

21 

 

 
 

EC Declaration of Conformity 

 

Tool Manufacturer: Schwanog Siegfried Guentert GmbH 
Niederschacher Strasse 36 
D -78052 VS Obereschach 
+497721/9489-0 
www.schwanog.com  

 
hereby declares the following product 
 
Product description  Schwanog Selector-System 
Type:    270-II/8-VZ     
Part number:   325554, 278337 
 
all relevant provisions of 

⚫ EC Machinery Directive 2006/42/EC 
⚫ EMC Directive 2014/30/EU 

) 
 
According to Annex I No. 1.5.1. of the Machinery Directive 2006/42/EG, the protection goals of 
the Low Voltage Directive 2014/35/EU were also complied with. 
 
The person authorised to compile the technical documentation within the meaning of the 
Machinery Directive is:  Clemens Guentert, address see company address. 
 
The following harmonised standards have been applied: 

⚫ EN ISO 12100:2011 
Security of machines: Terminology, methodology, guidelines for risk assessment 
⚫ EN 60204-1:2006 
Electrical equipment of machines: General requirements 

 
Further technical specifications / standards: 
 
⚫ Low Voltage Directive 2014/35/EC 
 
 
 
 
 
 
 ....... .................................................................. 
Obereschach, 20 April 2023 Clemens Guentert, Managing Director 
 


